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Following constitutes real income
to family

(1) Consumer goods

(2) Producer goods

(3) Kitchen garden produce
(49) Currency

Time and _
related to each other.

(1) Energy
(2) Money
(3) Income
(4) Both Money and Income

are closely

Time plan should be

(1) Flexible

(2) Flexible & Practical
(8) Practical

(4) Rigid

Following are characteristics of
Resources except one

(1) All are useful

(2) All are inter-related
(3) All are important
(4) All are plenty

Attitude, feeling and interest are
the constituents of

(1) Affective component
(2) Cognitive

(3) Physiological

(4) Both (1) & (2)
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10.

In the process chart the symbol
used for movement and operation
done simultaneously

The primary source of energy for
survival is

(1) Renewable Energy

(2) Sun

(3) Non-renewable Energy

(4) Food security

Time is utilized in occupational
activities as well as for

(1) Only Entertainment

(2) Only Rest

(3) Only Leisure

(4) Entertainment, Rest & Leisure

After taking rest the body
consumes more than 100-150
percent of energy in doing which
work ?

(1) Light work

(2) Moderate work

(3) Heavy work

(4) Very Light work

Select the formal technique.
(1) Pathway chart

(2) Process chart

(3) Operation chart

(4) Memo-Motion chart
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Following is a class of change
(1) Change in standards

(2) Change in hand and body
motion

(8) Change in values
(4) Change in goals

The crux of management is
(1) Resource management
(2) Decision making

(3) Goal

(4) Energy Management

A tool for managing time is
(1) Work curves

(2) Work lines

(3) Work time

(4) Work schedule

It is the most important unit in
the physical component of work

(1) Backbone
(2) Eyes

(3) Legs

(4) Hands

Effect which depicts that
interrupted task are easier to

recall than a completed task is
known as

(1) Zig-Zag effect
@) Zinging effect
(3) Zeigarnick effect
(4) Z-effect
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Daylight quotient is the of
light at any point inside the room.

(1) Intensity
(2) Glare
3) Lux

(4) Lumen

Sariska National Park is situated
in which state ?

(1) Gujarat

(2) Rajasthan

(3) Madhya Pradesh
(4) Uttar Pradesh

- A person who is a buyer and the

user of a product is a
(1) Purchaser

(2) Consumer

(8) Producer

(4) Shop-keeper

. LAQ.is

(1) Instant Air Quality

(2) Indoor Air Quality

(3) Industrial Air Quality
(4) Intermediate Air Quality

Input to family system and their
subsystem that provide
motivation are called

(1) Value
(2) Event
(3) Effect
(4) Demand
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Consumer redressal cell deals

with

(1) Certifying the quality of
goods

(2) Protecting the consumer

(3) Educating the consumer

(4) Labelling of Goods

Act which governs consumer

disputes is

(1) The Consumers Protection Act

(2) The Burecau of Indian
Standard Act

(8) The Trade Merchandized
Mark Act

(4) Restrictive Trade Practices Act

Inclusion of local communities in
forest management is a part of

1) U.N.O.
(2) NTFPs
3) 10UC
4 JFM

Why do expenditure vary during
a family’s lifetime on majority
bases ?

(1) Education

(2) Family life cycle

(3) Type of interiors

(4) Type of job

. Which of the factors bring about

change in demand of people ?

(1) Change in fashion

(2) Change in population

(3) Discovery of cheap substitutes
(4) All of these
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When you are very thirsty and
you drink water, the satisfaction
of second glass of water over first
will

(1) Increase
(2) Decrease
(3) Remain same

(4) None of these

The Law of Diminishing Marginal
Utility states that as we go on
consuming more and more units
of a commodity, the Utility

with every successive unit.

(1) Increases

(2) Falls

(3) Remains same

(4) Sometimes increase,
sometimes fall

The limitations to the Law of

Diminishing Marginal Utility are

(1) Rare collection

(2) Abnormal persons

() Very small units

(4) All of these

The new approach ‘Indifference
Curve analysis§ to  study
consumer behaviour was given by

(1) Alfred Marshall
(2) J.R. Hicks

(3) Adam Smith
(4) Keynes
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The households provide following
to Firms in the circular flow

(1) Land and Labour
(2) Capital

(3) Enterprise

(4) All of these

The Indifference Curve technique

is considered superior to that of

other approaches to study

consumer behaviour because it

considers

(1) Ordinal measurement of utility.

(2) Cardinal measurement of utility.

(3) Marginal utility of money is
not constant.

(4) Both (1) & (3)

Demand of goods can be
(1) Perfectly elastic

(2) Perfectly inelastic
(3) More elastic

(4) None of these

The demand for luxuries is
(1) More elastic

(2) Less elastic

(B) Inelastic

(4) Infinite

A car for a busy doctor is a
(1) Need

- (2) Comfort

(3) Luxury
(4) Want
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Which of the

incorrect ?

(1) NNP = GNP - Depreciation

(2) Personal Income=National
Income — Personal Expenditure

(3) Disposable Income=Personal

4)

following 1is

Income -- Personal Tax
Disposable
Income=Consumption + Saving

Methods to measure National
Income include following method
(1) Output method

(2) Income method

(3) Expenditure method

(4) All of these

In sectors like agriculture and
animal husbandry, National
Income in India is calculated
using

(1) Product method

(2) Income method

(3) Expenditure method

(4) Production method

A Business Cycle is defined as
alternating periods of

(1) Prosperity

(2) Depression

(3) Employment

(4) Both (1) and (2)

The Major Business cycles or
fluctuations of business activity
are also termed as

(1) Kitchin cycle

(2) Juglar cycle

(3) Kondratieff cycle
(4) Keynes cycle
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The short term Business cycle or
Kitchin Cycle is approximately of
following duration

(1) 40 months

(2) 10 years

(3) 20 years

(4) 60 years

Following is not a phase of a
typical Business Cycle

(1) Boom

(2) Depression
(3) Recovery
(4) Profitability

Recession phase is characterized
by

(1) Increasing employment

(2) High profits

(3) New investments

(4) High unemployment

The Depression phase is followed

by following in a typical Business

Cycle

(1) Recovery, Prosperity, Boom,
Recession

(2) Prosperity, Recovery, Boom,
Recession.

(38) Boom, Recovery, Prosperity,
Recession.

(4) Recession,
Prosperity, Boom.

Recovery,

The fluctuations caused in
business activity by DBusiness
Cycle can be controlled by

(1) Monetary policy

(2) Fiscal policy

(3) Automatic stabilizers
(4) All of these
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Following is an built-in stabilizer
to smooth fluctuations 1in
business cycle

(1) Progressive income tax
(2) Regressive income tax
(3) Easy credit

(4) No income tax

Eco-mark on a product ensures
that it is

(1) Recyclable

(2) Environmental friendly
(3) Energy saving

(4) All of these

Which of the following is a case of
adulteration of milk ?

(1) Mixing water

(2) Removal of butter

(3) Addition of skimmed milk

(4) All of these

A consumer can file complaint in
district commission upto

(1) 20 lakhs

(2) 1 crore

(3) 1 crore to 10 crores
(4) Above 10 crores

Which of the following is not
correctly matched with the year ?

(1) Prevention of Food Adulteration
Act, 1954.

(2) The Standards of Weights
and Measures Act, 1974.

(3) The Environment Protection
Act, 1986.

(4) The Water Prevention and
Control of Pollution Act, 1974.
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The recent amendment in
Consumer Protection Act was
done in
(1) 1986
(2) 1987
(3) 2019
4) 2020

. While buying gold jewellery, look

for

(1) BIS mark

(2) Beauty

(3) Karatage and fineness
4) (1) and (3)

The quantity of LPG in gas
cylinders for residential purpose
weight

(1) 15kg

(2) 142kg

(3) 14.5kg

(4) 30kg

The electrical gadgets cannot be
sold without following
standardization mark

(1) BIS

) ISI

(3) ISO 9000

(4) None of these

Essential characteristics of a
Patent

(1) Novelty

(2) Invented

(3) Industrial application

(4) All of these

IPR in India basically aims at

(1) Protection and Development

(2) Development and Promotion

(3) Protection, Promotion and
Development

(4) None of these
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Product label contains following
information

(1) Ingredients

(2) Brand name

(3) Directions for use
(4) All of these

Markets can be

(1) Imperfect market
(2) Specialized markets
(3) World market

(4) All of these

Market for gold and silver are
(1) Imperfect

(2) Perfect

(3) Cheap

(4) Costly

The market for motor cars is of
following type

(1) Monopoly
(2) Duopoly
(3) Oligopoly
(4) None of these

The consumer right to be given
the facts needed to make an
informed choice is called

(1) Right to choose

(2) Right to be informed

(3) Right to consumer education
(4) Right to safety
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62.

63.

64.

Relief that can be claimed by
complainant in the consumer
redressal is
(1) Removal

goods
(2) Replacement of goods
(3) Refund of the price paid
(4) All of these

of defects from

The fee for filing complaint in
District Commission for value of
goods or services from 50 lakhs to
1 crore 1s

(1) T 200

(2) 400

(3) ¥ 1,000

(4) 72,000

A person is not a consumer who
(1) Gets goods free of charge
(2) Buys goods and services

(3) Buys goods for resale

(4) (1) and (3)

In Paasche’s price index number
weight is considered as

(1) quantity in base year
(2) quantity in current year
(3) prices in base year

(4) prices in current year

Consumer price index is obtained
by

(1) Paasche’s formula

(2) Fisher’s ideal formula

(3) Marshall-Edgeworth formula

(4) Family budget method
formula
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Who issues the Consumer Price
Index (CPI) data ?

(1) Ministry of Commerce and
Industry

Ministry of Finance

Ministry of Statistics and
Program Implementation
None of these

@)
3)

“@

On which day International
Biodiversity Day is celebrated ?
(1) 227 May

(2) 31st March

(3) 5th June

(4) 2nd February

Who wrote the first report on the
state of India’s Environment in
1982 ?

(1) Madhav Goyal
(2) M.C. Mehta

(3) Anil Agarwal
(4) Medha Patkar

The large number of interlinked
food chains in an ecosystem
constitutes to form

(1) Ecological Pyramid
(2) Food Web

(3) Food Chain

(4) Food Pyramid

When the conservation of the
species is done by protecting its
habitat along with all the other
species that live in is known as

(1) Biological conservation
(2) Reserve

(3) In-Situ conservation
(4) Biosphere
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73.

74.

Ozone is present in which layer of
the atmosphere ?

(1) Troposphere

(2) Stratosphere

(8) Mesosphere

(4) Thermosphere

Which is the natural way of
managing waste without
disturbing the nature ?

(1) Green/eco designing

(2) Landfill

(3) Incineration

(4) Vermicomposting

What do you understand by
Medhbandi ?

(1) Stone embankment on a hill
slope to help create a level
field for cultivation.

(2) Stone check dams across
streams or gullies to capture
run-off water.

(3) A big plot enclosed by a stone
boundary wall ‘kot’.

(4) A small reservoir.

In the absence of greenhouse
gases what would be the earth’s
temperature ?

(1) 15°C

2 -18°C

3) 33°C

4 20°C

Ozone layer thinning i8 observed
over

{1) North Pole
(2) South Pole
(3) Arctic Region
(4) Antarctica
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77.

78.

79.

80.

Which is the water conservation
technique ?

(1) Small Percolation Tank
(2) Bada

(8) Water Reservoir

(4) Medhbandi

Which Indian river was polluted
by the furnace oil spillage in
1990 ?

(1) Krishna

(2) Brahmaputra
(3) Ganga

(4) Damodar

Chernobyl disaster of 1986 is
associated with

(1) Nuclear Hazard

(2) Thermal Pollution
(3) Noise Pollution

(4) Marine Oil Pollution

is the process through
which ecosystem tend to change
over a period of time.

(1) Ecological pyramid
(2) 10% law

(3) Ecological Succession
(4) Population expansion

Biotic factor represents
(1) Weather

(2) Plants

(3) Humidity

(4) Rainfall
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Movement ?

(1) Sunderlal Bahuguna
(2) Anil Agarwal

(3) M.S. Swaminathan
(4) Salim Ali

Which are the 6 greenhouse
gases ?

(1) CO,, CH,, N,O, HFCs, PFCs,
SFg;and NF,.

CO,, CH,, N,O, HFCs, SF,
and NF,.

CO,, CO, CH,, N,,, HFCs and
SF,.

CO,, CH,, NO, HFC, SF; and
NF,.

@
3

@

Which is the simplest aquatic
ecosystem ?

(1) Marine

(2) Lake

(3) River

(4) Pond

Eutrophication is related to the
(1) Leeching of minerals.

(2) Sewage and solid waste in
the aquatic ecosystem.

(3) Leeching of fertilizers from
fields.

(4) Acidic rains damaging
aquatic life.

‘Global 200’ is related to the
(1) Hotspot of biodiversity
(2) Biosphere of world

(3) Animal biodiversity

(4) Conservation spot
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87.

88.

89.

90.

Threatening life of the animals to
earn economic benefits is called
as

(1) Killing

(2) Over Exploitation
(38) Exotic species
(49) Poaching

Campbell Bay National Park is
located at

(1) Assam

(2) Lakshadweep Island

(3) Andaman and Nicobar Island
(4) Chhattisgarh

There are National Parks
and __ Wildlife Sanctuaries.
(1) 89 and 500

(2) 120 and 400

(3) 589 and 40

(4) 100 and 400

is one of the most famous
water-bird sanctuaries in the
world.

(1) Ranthambore

(2) The Great and Little Runn of
Kutchh

(3) Bharatpur
(4) Gir Sanctuary

Muffling is done to reduce which
type of pollution ?

1) Air

(2) Water

(3) Land

(4) Noise
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93.

94.

©
2

has visible benefits like
conserving resources, reducing
energy during manufacturing
and reducing pollution level.
(1) Recycling
(2) Source Reduction
(3) Reusing
(4) Reducing

National Dessert Park is also
known as

(1) Fossil Park

(2) Vegetation Park

(8) Wildlife Park

(4) Grassland Park

The Sepahijala Wildlife Sanctuary
(SWS) is located in which state ?

(1) Odisha
(2) Kerala
(3) Tripura
(49) Manipur

Which of the following facts are

incorrect ?

(1) Global warming is the rise in
the average temperature of
the earth’s climate system.

(2) Eutrophhication is observed
in water bodies.

(3) The greenhouse effect is a
natural phenomenon.

(4) Ozone is harmless to breathe.

is a waste disposal
method where solid organic
wastes are converted to the
residue and gaseous products
through combustion.

(1) Incineration

(2) Incarnation

(3) Incarcerafion

(4) Incubation
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96.

97.

98.

99.

Depletion of the ozone layer is
damaging to human health.
Negative effects include

(1) Skin cancers
(2) Osteoporosis
(3) Dyspepsia

(4) None of these

play a vital role of
releasing essential materials
from the dead matter and thus
maintain a continuous cycle of
energy flow and of material.

(1) Saprophytes
(2) Autotrophs
(3) Heterotrophs
(4) Producers

Which of the following pairs is
correct ?

(1) Primary — Cow, insects
Consumers and
grasshoppers
(2) Secondary — Frogs and
Consumers lizards
3) Tertiary — Tiger, Lion,
Consumers Leopard and
Vultures

(4) None of these

Acid rain is caused by increase in
the atmospheric concentration of

(1) Oz and dust
(2) SO, and NO,
(3) SO4and NO
4 CO,and CO
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| 100. Biochemical

101.

102.

103.

Oxygen Demand
(BOD) in a river water

(1) Increases when sewage gets
mixed with river water.

@

Remains wunchanged when
algal bloom occurs.

(3) Has mno relationship with
concentration of oxygen in

the water.

Gives a measure of

salmonella in the water.

@

Which one of the following
statements is wrong in case of
Bhopal Gas tragedy ?

(1) It took place in the night of
December 2/3, 1984.
Methyl Isocyanate
leakage took place.
Thousands of human beings
died.

Radioactive fallout engulfed
Bhopal.

2

gas
3)
(4)

Contamination of water with
sewage is indicated by cysts of

(1) Escherichia

(2) Escherichia coli

(3) Pseudomonas

(4) Leishmania

Increase in the concentration of
pollutants in higher trophic levels
is known as ‘

(1) Biomagnification
(2) Biodegradation
(3) Eutrophication
(4) Recycling
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107.

108.

109.

. Minamata disease

Maximum threat to the world is
from

(1) Global warming

(2) Ozone hole

(3) Water pollution

(4) Soil erosion

is due to

pollution of

(1) Industrial waste
into fishing water

(2) Oil spill in water

(3) Organic waste into drinking

CY)

water

Arsenic into the atmosphere
Lead is one of the most serious
environmental pollutants which
affects
(1) Air
(@) Soil
(3) Water
(4) Noise

mercury

Slum Clearance and Improvement
Scheme was introduced in

(1) 1946

(2) 1966

(3) 1956

(4) 1976

Carbon monoxide falls in which
class of indoor air pollutants ?

(1) VOC

(2) Combustion products

(38) Respirable particulates

(4) Odours

Class ‘B’ fire occurs with

(1) Gases or liquids

(2) Carbonaceous solids

(3) Easily oxidised

(4) Fire involving
equipments

electrical
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110.

111.

112.
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114.

Which one of the following pairs
of gases are the major causes of
‘Green House Effect’ ?

(1) CO, & N,0
@) CO,&O0,
(3) €O, & CO
(4) CFCs & SO,

India seriously toock wup an
effective Family Welfare
Programme (FWP) in

(1) 1961
(2) 1931
(3) 1951
(4) 1941

in India is an example of a

movement against large dams,

(1) Narmada Bachao Andolan
(2) Ganga Bachao Andolan
(3) Pani Bachao Andolan

(4) Godavari Bachao Andolan

Incineration is

(1) Burning of all types of waste

(2) Open Dumping

(3) Disposing off the refuse on
unused land

(4) Slurry dumping

Environmental impact assessment

is

(1) Post project evaluation

(2) Risk and policy analysis

(8) Cost benefit analysis

(4) Pre-defined target in policy
makings
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115.

Best method for resolving conflict
in deciston making 1s

(1) Voluntary submission
(2) Integration
(3) Compromise

(4) Dominance

116. A system approach promotes

| 117.

118.

119.

understanding of within
management.

(1) Inputs

(2) Planning

(38) Outputs

(4) Decision making

Decisions that are made from the
collective action of several
individuals each of whom has
distinct values, goals, standards
and role perception are known as

(1) Group decision

(2) Individual decision
(3) Habitual decision
(4) Central decision

The leadership in which decision
making is centralized is

(1) Ideographic

(2) Autocratic

(3) Free-rein

(4) Participative

Major motivational force within a
family system is

(1) Values

(2) Goals

(3) Both (1) & (2)

(4) Decision
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| 122.

123.

124.

Which of the following is not a part
of Maslow’s Need Hierarchy ?

(1) Self esteem

(2) Safety

(3) Anger

(4) Physiological need

According to Gross and Crandall
“An end towards which a desire is
directed” is called

(1) Goal
(2) Need
(3) Want
(4) Value

Which of the following is not a
criteria for ‘SMART goals ?

(1) Measurable
(2) Expensive
(3) Specific
(4) Realistic

Plans which are wusually made
once and retain their values over
a period of years while
undergoing periodic revisions and
updates are

(1) Ongoing plans

(2) Single use plans

(3) Multi use plans

(4) Strategic plans

Directing involves three sub-

functions

(1) Communication, Leadership,
Motivation

(2) Innovation, Leadership,
Communication

(8) Leadership, Actuating,
Innovation

(4) Communication, Motivation,
Innovation
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function of management

(1) Establishing standards
performance.

(2) Measuring current performance
and comparing it.

3)

(4)

of

Taking action to correct any
performance.

Taking reviews from previous
steps.

Technological standards have to
do with

(1) Attitudes

(2) People

(3) Natural/Manufactured things
(4) Feelings

4R’s of Resource conservation are

(1) Reuse, Refuse, Reduce,
Recycle

(2) Refund, Refuse, Reduce,
Recycle

(3) Recycle, Reproduce, Refuse,

Reduce

Reuse,
Recycle

PERT is

(1) Programme Evolution
Review Technique

(2) Programme Evaluation
Review Technique

3

4)

“4) Refund, Reproduce,

and
and

Programme Evaluation and
Revive Technique
Progress Evaluation

Review Technique

and

provides learning type of
feedback in time plans.
(1) Gantt chart
(2) Pathway chart
(3) Both (1) & (2)
(4) Operation chart
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131.
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134.

of work is

(1) Work simplification
(2) Work curve

(3) Both (1) & (2)

(4) Peak load

All are the key concept of systems

approach to Management except

one

(1) A system can be either open
or closed.

(2) A sub-system does not affect
other sub-system.

(3) Every system
boundary.

(4) Center of systems approach
is concept of holism.

has a

An organization of objects united
in some form of regular
interaction or interdependence is
called as

(1) Boundaries

(2) Structure

(3) System

{4) Function

Interface is

(1) Common or shared boundary
of system

(2) Separate boundary of system

(3) Both (1) & (2)

(4) Open system

This environment includes
societal system and structural
system

(1) Micro environment

(2) Household environment

(3) Macro environment

(49 Any environment
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135.

136.

‘Enjoyment income’ is also known
as

(1) Psychic Income

(2) _Mone): Income

{3) Real Income

(4) Household labour Income

Inheritance is

(1) Regular Income
(2) Irregular Income
(3) Money Income
(4) Psychic Income

137. An account keeping instrument

138.

139.

where the permanent investment
are listed down and liabilities are
also recorded

(1) Note-book
(2) Sheet
(8) Envelope
(4) Ledger

Except one all are methods of
handling income

(1) Hand out method

(2) Fifty-fifty method

(3) Unequal salary method
(4) Allowance method

C.P.I. means

(1) Customer Price Index

(2) Consumer Price Index
(8) Consumer Price Interface
(49) Consumer Profit Index
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Energy demand are highest
during

(1) Beginning Stage

(2) Expanding Stage

(3) Contracting Stage

(4) Sleeping Stage

Reasons for Psychological fatigue
are

(1) Boredom
(2) Frustration
(3) Monotony
(4) All of these

Father of Scientific Management
(1) Henry Fayol

(2) Frederick Taylor

(3) Abraham Maslow

(4) Max Weber

Which one is not a limitation of
bureaucracy ?

(1) Buck passing

(2) Trained incapacity

(3) Stability of tenure

(4) Goal displacement

According to Fayol, Number of
principle of management are

1) 13

) 14

3 15

4 16

It is nothing but the science of
morals

(1) Values

(2) Ethics

(3) Standard

(4) Both (1) & (3)
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This refers to the chain of
superiors from highest to lowest
rank

(1) System Chain
(2) Scalar Chain
(3) Remuneration
(4) Centralization

Mundel’s classes of change are
related to

(1) Time Management

(2) Money Management
(3) Work Simplification
(4) Energy Management

This involves deciding the order
of acting, co-ordinating the parts
and organizing the time sequence
(1) Planning

(2) Controlling

(3) Evaluation

(4) Feedback

The product of interaction
between individuals on same
object of situation is

(1) Goals
(2) Values
(3) Standards
(4) Attitudes

Fresco painting is the technique
of

(1) Oil painting
(2) Mural painting

(3) Mirror painting
(4) Water painting

w
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